

Chen and Stenlund Relations for Stirling Numbers

J. López-Bonilla and M. Morales-García

ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738 CDMX, México

Abstract: We study the expressions of Stenlund and Chen involving Stirling numbers.

Key words: Stirling numbers of first and second kind - Olson's identity

INTRODUCTION

Stenlund [1] obtained the relations:

$$A \equiv \sum_{j=1}^m S_m^{(j)} \sum_{k=1}^j S_j^{[k]} = 1, \quad B \equiv \sum_{j=1}^m S_m^{[j]} \sum_{k=1}^j S_j^{(k)} = 1, \quad (1)$$

Involving the Stirling numbers [2], which are obvious because:

$$A = \sum_{k=1}^m \sum_{j=k}^m S_m^{(j)} S_j^{[k]} = \sum_{k=1}^m \delta_{km} = 1, \quad B = \sum_{k=1}^m \sum_{j=k}^m S_m^{[j]} S_j^{(k)} = \sum_{k=1}^m \delta_{km} = 1.$$

In [3] were deduced the expressions:

$$C \equiv \sum_{j=1}^{m-1} S_m^{(j)} S_j^{[1]} = -S_m^{[1]}, \quad m \geq 2, \quad D \equiv \sum_{m=1}^{j-1} S_j^{[m]} S_m^{(1)} = -S_j^{(1)}, \quad j \geq 2, \quad (2)$$

Which are evident because:

$$C = \sum_{j=1}^m S_m^{(j)} S_j^{[1]} - S_m^{[1]} = \delta_{1m} - S_m^{[1]} = -S_m^{[1]}, \quad D = \sum_{m=1}^j S_j^{[m]} S_m^{(1)} - S_j^{(1)} = \delta_{1j} - S_j^{(1)} = -S_j^{(1)}.$$

Chen [4, 5] showed the following convolution formula:

$$\sum_{r=0}^n \sum_{j=k-r}^m r^{m-j} \binom{m}{j} S_j^{[k-r]} S_j^{[r]} = S_{m+n}^{[k]}, \quad 0 \leq k \leq m+n, \quad m, n \geq 0, \quad (3)$$

Whose inversion gives the relation:

$$\sum_{r=0}^n S_{m+r}^{[k]} S_n^{(r)} = \sum_{j=k-n}^m n^{m-j} \binom{m}{j} S_j^{[k-n]}, \quad m, n \geq 0, \quad 0 \leq k \leq m+n. \quad (4)$$

From (4) with $k = 1$ results the property [2]:

$$\sum_{r=0}^n S_n^{(r)} = 0, \quad n \geq 2, \quad (5)$$

and if we employ $k = n + 1$ into (4):

$$\sum_{r=0}^n S_{m+r}^{[n+1]} S_n^{(r)} = (1+n)^m - n^m, \quad m \geq 1, \quad (6)$$

which for $n = 1, 2$ implies the values [2]:

$$S_{m+1}^{[2]} = 2^m - 1, S_{m+2}^{[3]} - S_{m+1}^{[3]} = 3^m - 2^m, S_{m+1}^{[3]} = \frac{1}{2}(3^m + 1 - 2^{m+1}), m \geq 1. \quad (7)$$

From (4) with $m = n - 1 \geq 0$ is immediate the identity:

$$\sum_{r=0}^n S_{n+r-1}^{[k]} S_n^{(r)} = \begin{cases} 0, & k < n \\ n^{n-1}, & k = n \end{cases}, n \geq 1, \quad (8)$$

Which is a particular case of the Olson's relation [2, 6]:

$$\sum_{r=0}^n S_{n+r-1}^{[k]} S_q^{(r)} = \begin{cases} 0, & k < q \\ q^{n-1}, & k = q \end{cases}, n \geq 1. \quad (9)$$

Besides, from (4) for $m = n - 1 \geq 0, k > n$:

$$\sum_{r=0}^n S_{n+r-1}^{[k]} S_n^{(r)} = \sum_{j=k-n}^{n-1} n^{n-1-j} \binom{n-1}{j} S_j^{[k-n]}, 1 \leq n < k \leq 2n - 1. \quad (10)$$

It is easy to see that (4) allows extend (8):

$$\sum_{r=0}^n S_{m+r}^{[k]} S_n^{(r)} = \begin{cases} 0, & k < n \\ n^m, & k = n \end{cases}, n \geq 1, m \geq 0. \quad (11)$$

REFERENCES

1. Stenlund, H., 2019. On some relations between the Stirling numbers of first and second kind, Int. J. Maths. Computer Res., 7(3): 1948-1950.
2. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore.
3. Stenlund, H., 2019. On relations between the Stirling numbers of the first and second kind, arXiv: 1903.11947v1 [math.GM] 25 Mar 2019.
4. Chen, W.Y., 1991. Context-free grammars, differential operators and formal power series, Actes du Colloque sur les series formelles et la combinatoire algébrique. Editors: M. Delest, G. Jacob, P. Leroux; Publ. LaBRI, ISSN: 1157 3953, Bordeaux (1991) 145-160.
5. A. De Médicis and P. Leroux, Generalized Stirling numbers, convolution formulae and p,q-analogues, <http://www.lacim.uqam.ca/~leroux/articles/Stirling.pdf>
6. Olson, F.R., 1956. Some special determinants, Amer. Math. Monthly, 63(8): 612.